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The concept (and calculation) of a process capability index is pretty easy. For example, if the process (eg, filling, welding, nailing, etc.) is twice as accurate as the customer needs it to be, then the process capability index will calculate to be 2.00. 
Less than 1.00 is “bad,” and the lower it is, the worse the situation. An index of 1.00 is “just good enough.” Greater than 1.00 is “good,” and the higher the better. In many companies, the minimally acceptable process capability index is set at 1.33. 
All that is required to calculate the process capability index (in very simple situations) is a single division. For more complex situations (where 
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 ( the customer’s mean specification), the calculation is a bit more involved, however you won’t be asked to perform such a calcuation.

1)  Buxton Bakery
The temperature of the baking process at Buxton Bakery is stastically sampled during baking. A recent sampling of the temperatures yielded 
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, the average temperature, as 375( and was bounded by a 3
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 confidence interval of ± 5(. The customer’s specification for proper baking temperature is 375( ± 15(. What is the process capability index (Cp) for Buxton Bakery’s baking temperature?

Since 
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, 375( = the customer’s mean specification, 375(
Cp = Customer Specification/Actual Capability = 15 / 5 = 3.00

Answer:  
The process capability index for baking temperature is 3.00.





In order to receive full credit, your answer must fully show your mathematical work and it must be in the form of a complete sentence. 
An index does not have a unit of measure. Answers containing a unit of measure will be marked incorrect.
2)  Swan Quarter Spa
The pedicure station preparation process at Swan Quarter Spa is stastically sampled during preparation. A recent sampling of the preparations yielded 
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, the average preparation time, as 4 minutes and was bounded by a 3
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 confidence interval of ± 3 minutes. Research reveals that the customer expectation for preparation time is 4 minutes ± 2 minutes. What is the process capability index (Cp) for Swan Quarter Spa’s pedicure station preparation time?

Answer:  













3)  Rodanthe Razors
Rodanthe Razors manufactures high-quality double-edge safety razors and double-edge safety razor blades for the discriminating male customer. The final step in manufacturing a DE safety razor blade is to Teflon-coat its edges. Teflon reduces the amount of friction/drag/snag between the blade edge and the skin. The Teflon coating process at Rodanthe Razors is stastically sampled during coating. A recent sampling of the coatings yielded 
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, the average Teflon coating thickness, as 300 angstroms and was bounded by a 3
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 confidence interval of ± 60 angstroms. The customer specification for Teflon coating thickness is 300 angstroms ± 90 angstroms. What is the process capability index (Cp) for Rodanthe Razors’ Teflon coating thickness?

Answer:  
The process capability index for Teflon coating thickness is 1.50.




In order to receive full credit, your answer must fully show your mathematical work and it must be in the form of a complete sentence. 
An index does not have a unit of measure. Answers containing a unit of measure will be marked incorrect.
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